Revision exercise

Match the following sentences with the correct answers.

Very large companies that
have many branches in
other countries.

Globalisation

The development and

invention of cargo ships
and aeroplanes help to
speed up globalisation.

Skilled and creative workers

One of the reasons that
encourage the setting up of
large companies in other
countries.

Transportation.

A process by which people
around the world are
interconnected in ideas and
activities.

Interdependent

Countries rely on each
other.

Multinational Corporations
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